)
Fl SH B O N E§(/ﬁ}%“ INSTALLAYION INSTRUCTIONS
OFFROAD ﬁ PART No. FB21058
A* Jeep® JL Wrangler

2018-Current Windshield Light Bar Bracket

s
W88

REQUIRED TOOLS KIT CONTAINS QTy
T-40 Torx M6 SS Button Head Bolts 4
5MM Allen Key M8 SS Button Head Bolts 4

M6 Washers 4
M8 Washers 4

2105801

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



\\\\

F] SH BON E (/@ INSTALLATION INSTRUCTIONS

OFFROAD PART No. FB21058

Jeep® JL Wrangler
2018-Current Windshield Light Bar Bracket

1) REMOVE OEM WINSHEILD SUPPORT BOLTS
Using a T40 Torx wrench, remove the four bolts
holding the OEM windshield support plate.

3) LIGHTING
Install your light bar of choice following the
manufactures instruction.
2) INSTALL LIGHT BAR BRACKET '
Using a 5mm Allen wrench install 2 longer bolts into the
top of the light bar bracket, followed by 2 shorter bolts
into the bottom of the bracket.

Repeat steps 1&2 on the opposite side.

2105801

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



